
Subtract 1-digit from 3-digit (Regrouping)

Go to onlinemathlearning.com for more worksheets

Write the problem in vertical form and find the difference.

242 - 5 =  

572 - 9 = 

296 - 7 =  

112 - 4 = 

550 - 6 = 

333 - 6 = 

108 - 9 = 

185 - 8 = 



Subtract 1-digit from 3-digit (Regrouping)

Go to onlinemathlearning.com for more worksheets

Write the problem in vertical form and find the difference.

242 - 5 = 237  

572 - 9 = 563 

296 - 7 = 289  

112 - 4 = 108 

550 - 6 = 544 

333 - 6 = 327

108 - 9 = 99

185 - 8 = 177


